SHIF4B1BERE BEHEFREEFRERAORVUHE

FH3F12A1BRE BLEHTEEEFRERAORUVETE

g & B =i AR B | #HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,323 6,645 12,968 5,430 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA

AFNHbig 3,120 3,260 6,380 2,235 I\ ithig 6,245 107 6,569 86 12,814 193 5,406 151

B &bl 5,231 5,489 10,720 4,008 Kfihigk 3,089 38 3,247 13 6,336 51 2,227 49

=B 1,478 1,538 3,016 1,111 B S 5,206 72 5,452 80 10,658 152 4,021 139

K ilfi Hhig 1,923 1,972 3,895 1,348 = B ihig 1,471 7 1,516 11 2,987 18 1,105 17

B Fithis 771 790 1,561 557 Kt Hhig 1,920 12 1,958 33 3,878 45 1,345 35

15 ihis 808 846 1,654 704 B £ ih i 764 1 779 5 1,543 6 553 6

B EH2HE 19,654 20,540 40,194 15,393 15 ihig 788 22 821 31 1,609 53 687 50
MEmLHE 19,483 259 20,342 259 39,825 518 15,344 447
i (R A k) A5 2 A 33 A5 A 38 A3 A1 A6
HEREXSBRAQFNAEAERZSD.
Bt =i =1 HE
N SHELA (2 4) 287 283 570 505 fHBF12R1BRE BEHEREFEBRAORUHEE(BFEADH)

g B ZH | A0 B | HER

I\ ihig 6,138 6,483 12,621 5,255
AKFxhig 3,051 3,234 6,285 2,178
B Sithig 5,134 5,372 10,506 3,882
= B b g 1,464 1,505 2,969 1,088
Klfi high 1,908 1,925 3,833 1,310
BA = Bhigk 763 774 1,537 547
1 5 ih g 766 790 1,556 637
MEmLHE 19,224 | 20,083 39,307 | 14,897
¥E (R A L) A7 A 28 A 35 5




